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197 BEAREEEEH 25, 12. 1BIE

R ERXS | & x| B | % g ERM| & x| B | %
% # 43, 531 20, 642 22,889 FE I FE —HEKX 1,204 567 637
MR EHRER 4508 2,023 2,485|#E - HERK 76 39 37
B O# = K| 4502 2,084 2,48AHE—-BEKX 789 377 412
m# g EK 2,544 1,234 L3IOABE _HERK 348 168 180
oM OB E KX 1,769 853 A EHE=HRER 164 72 92
# # ® K| 7,335 3,557 3,78|4 )i # B X 775 375 400
"M B E K 3,518 1,674 L8M|EFE-RERK 393 178 215
+ WHEERK 2,191 1, 068 LIBERAHF -_REKX 231 113 118
Bk EK 1,198 567 6| EAF=BREK 102 44 58
o EREX 1,521 771 THOINRE—BERX 467 216 251
BLEFEBREK 735 360 IBINARE-_BRER 76 38 38
LEFE_HREX 305 150 155(f B & & X 1, 5625 698 827
ko % =X 2,733 1,273 L460|E m £ = KX 838 385 453
RREF —KREX 553 262 91|F K & E K 1, 401 666 735
FERE _RERX 648 311 37| B # & K 1, 082 519 563

BE RFEREELRTN
198 EEEHEURER

% % M &= 5 o0 HEE B B o®m &K [ )
B B | & 2k 8 | £ %] B8 | &

Hio. 7.23 2 # B¢ & B|47,009 22,174 24,835| 30,973 15,204 15,769 65.9 68.6 63.5
H2 2.18 & & Pt #% B| 46,958 22,161 24,797| 41,423 19,494 21,929 88.0 83.4 88.2
H2 3.11 $x| 46, 787 22,071 24,716| 40,345 18,842 21,503 86.2 85.4 87.0
H210.28 1 &% = #& H|46,838 22,076 24,762| 41,784 19,388 22,396| 87.3 90.5 89.2
H3. 4. 7 & & & 3 H| 46,900 22,068 24,832| 40,310 18,678 21,632| 86.0 84.6 87.1
H4. 7.26 & & Bt # H| 47,225 22,225 25,000] 26,989 13,154 13,835 57.2 59.2 55.3
H410.25 KB 0 | 47,150 22, 181 24,969 26,205 12,141 14,064| 55.6 54.7 56.3
Hb5 7.18 ® 3 Bt #& B|47,391 22,325 25,066| 40,742 19,028 21,714| 86.0 85.2 86.6
H6.10.23 ™ #F & # B|47,412 22,331 25,081 41,788 19,243 22,545 88.1 86.2 89.9
H7. 4 9 B & & # EH|47,361 22,273 25,088( 39,672 18,368 21,304| 83.8 82.5 84.9
H7 7.23 2 & Bt # B|47,626 22,427 25,199] 20,647 10,454 10,193| 43.4 46.6 40.5
H 8.10.20 % & Bt & B|47,857 22,588 25, 269| 30,557 14,572 15,985| 63.9 64.5 63.9
H8.10.20 & H #| 47,783 22,554 25,229 30,552 14,574 15,978 63.9 64.6 63.9
H10. 3.22 T $=| 47,652 22,524 25,128] 38,900 18,020 20,880 81.6 80.0 83.1
HI0. 7.12 2 & Bt # B| 47,872 22,641 25,231|27,900 13,505 14,395 58.3 59.7 57.1
H10.10.25 1 & = # B£|47,675 22,567 25,108|39,394 18,211 21,183 82.7 80.7 84.4
Hil. 4.11 B 3 & 3 847,720 22,556 25,164| 36,673 16,981 19,692 76.9 75.3  78.3
HI2. 6.25 #® & Pt #% B|47,833 22,584 25,249| 32,337 15,489 16,848] 67.6 68.6 66.7
H12.10. 9 &  4n %|47,677 22,539 25,138| 23,973 11,187 12,786| 50.3 49.6 50.9
HI3. 7.29 2 # BT # B[ 47,620 22,546 25,074| 26,426 12,845 13,581 55.5 57.0 54.2
H14.10.27 T & = & B|47,229 22,368 24,861 35,223 16,340 18,883| 74.6 73.1 76.0
HIS. 4.13 W 3 = # B|47,176 22,316 24,860| 35,231 16,475 18,756| 74.7 73.8 175.5
HI5. 11. 9 % # Bt #% B|47,317 22,365 24,952| 27,731 13,495 14,236 58.6 60.3 57.1
Hi6. 7.11 % & [T # B| 47,229 22,310 24,919] 25,105 12,360 12,745| 53.2 55.4 51.2
H16.10.17 & M 7| 47,081 22,217 24,864| 17,038 8,210 8,828] 36.2 37.0 355
H17. 9.11 % bt 3 B|46,915 22,157 24,758| 34,822 16,578 18,244| - 74.2  74.8 73.7
H18. 3.19 mWHARHEE (WiX)| 46,594 22,002 24,592| 11,839 5,805 6,034] 25.4 926.4 24.5
H18.10.29 i # = # HE| 46,388 21,916 24,472| 34,962 16,148 18,814 75.4 73.7 76.9
H19. 7.29 £ & BT # £|46,358 21,905 24,453| 28,416 13,802 14,614] 61.3 63.0 59.8
H20.10.19 & n 95| 45,766 21,597 24,169| 18,386 8,710 9,676 40.2 40.3  40.0
H21. 8.30 #& % BT & B| 45,447 21,463 23,984| 33,346 16,105 17,241] 73.4 75.0 71.9
H22. 7.11 £ & Bt & E|45,104 21,289 23,815| 27,290 13,254 14,036] 60.5 62.3 58.9
H22.10.31 i1 # &= #% E|44,807 21,151 23,656| 32,483 15,188 17,295| 72.5 71.8 73.1
H24.10.28 & patl % 43,905 20,753 23,152| 16,753 8,062 8,691| 38.2 38.9 37.5
H24.12.16 %% #% Bt &% B[ 43,899 20,753 23,146| 23,670 11,776 11,894 53.9 56.7 51.4
H25 .4. 7 i f| 43,445 20,564 22,881| 31,692 14,941 16,751 72.9 72.7  73.2
H25 .7.21 2 #% i & 8| 43,656 20,683 22,973| 26,615 12,735 13.880] 61.0 61.6 60.4
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2 14%El 220 3 2 33 - - 0 2 15 11 - - 2 - - 127
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